HSC 2001 - Information Processes and Technology

Question 16

Use the following information to answer Questions 16 and 17.

A university keeps staff data in this database table:

FACULTY

FACID FAC_NAME DEPARTMENT |GENDER |SALARY
Jo1 RAYMOND J JAAFAR |I.T. MALE 60 000
So1 LYNETTE SIMON I.T. FEMALE |65 000
DO1 ANDREA D’CRUZ I.T. FEMALE |54 500
S02 DIB SURANYI HISTORY MALE 48 000
K01 LE HAN KWOK ACCOUNTING |FEMALE |55 000

16 The following SQL statement is used to select data:
SELECT FACID, FAC_NAME

FROM FACULTY
WHERE SALARY > 55 000 AND SALARY < 50 000

Which of the following sets of data will be retrieved?

(A [Facip |FaC_NAME

B)  |Facip |Fac_NaAME

Jo1  |RAYMOND J JAAFAR
S01  |LYNETTE SIMON
S02  |DIB SURANYI

(©) [Facip [FAC_ NAME SALARY
Jo1  |RAYMOND J JAAFAR |60 000
S01  |LYNETTE SIMON 65 000

S02 DIB SURANYI 48 000

(D) FACID |FAC_NAME DEPARTMENT |GENDER |SALARY
Jo1 RAYMOND J JAAFAR |I.T. MALE 60 000
So1 LYNETTE SIMON I.T. FEMALE |65 000
S02 DIB SURANYI HISTORY MALE 48 000
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Choice Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6

B 42.8 . .

C 48.9 42.2 19.1 6.7 54

D 17.4 8.7 5.2 2.3 1.8

N 0.4 0.1 0 0 0
Question 16

The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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